Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Attorney	_Rate	Hours	Amount	Date	Narrative	Case
WAKEFIELD,	\$550.00	1.1	\$605.00	11/26/2007	REVIEW AND ANALYZE COMPLAINT AND HEARING TRANSCRIPT; ANALYSIS RE DEFENSES TO	
JEDEDIAH					SAME AND [REDACTED].	Ċ
PULGRAM,	\$625.00	0.7	\$437.50	11/26/2007	CONFER WITH J. WAKEFIELD AND J. DECECCO RE NEW LAWSUIT; REVIEW AND ANALYZE	
LAURENCE		_			LAWSUIT AND EMAILS RE SAME.	
WAKEFIELD,	\$550.00	2.9	\$1,595.00	11/27/2007	RESEARCH AND ANALYZE POTENTIAL DEFENSES TO DON YUE COMPLAINT AND	_
JEDEDIAH					INDEMNIFICATION CLAIMS IN VIEW OF SAME; CONFER WITH MR. PULGRAM AND MS. CHO RE SAME.	
CHO, SOO	\$245.00	1.5	\$367.50	11/27/2007	TELEPHONE CONVERSATION WITH JED WAKEFIELD; RESEARCH RE: DUPLICATIVE LITIGATION	1. 5
SIEBER, ALBERT	\$370.00	1.5	\$555.00	11/27/2007	CONFER WITH L. PULGRAM AND J. WAKEFIELD RE COMPLAINT FILED BY D. YUE; RESEARCH ISSUES RELATED TO SAME.	
WAKEFIELD,	\$550.00	0.5	\$275.00	11/28/2007	PREPARE LETTER TO PLAINTIFF'S COUNSEL RE DON YUE'S NEW COMPLAINT AND	3
JEDEDIAH					INDEMNIFICATION.	2
CHO, SOO	\$245.00	3.7	\$906.50	11/28/2007	RESEARCH RE CIVIL PROCEDURE RULES ON DUPLICATIVE LITIGATION; TELEPHONE	
					CONVERSATION WITH ALBERT SEIBER RE SAME.	
WAKEFIELD,	\$550.00	0.7	\$385.00	11/29/2007	CONFER WITH MR. SIEBER AND MS. CHO RE GROUNDS TO CHALLENGE DON YUE'S NEW	(
JEDEDIAH					COMPLAINT; REVIEW RESEARCH RE SAME.	-
CHO, SOO	\$245.00	1.6			FURTHER RESEARCH RE LAW RE: DUPLICATIVE LITIGATION.	_
SIEBER, ALBERT	\$370.00	0.4			CONFER WITH J. WAKEFIELD RE RESPONSE TO COMPLAINT FILED BY D. YUE.	
WAKEFIELD,	\$550.00	1.6	\$880.00	11/30/2007	RESEARCH AND DRAFT MOTION TO RELATE DON YUE'S NEW COMPLAINT.	_
JEDEDIAH						
	- <u></u>				[REDACTED, FEES NOT SOUGHT]	-
WAKEFIELD,	\$550.00	4	\$2,200.00		FURTHER PREPARATION OF MOTION RE RELATED CASES; PREPARE SUPPORTING	- (
JEDEDIAH					DECLARATION AND REVISE PROPOSED ORDER; CALLS WITH PLAINTIFF'S COUNSEL RE SAME.	. [
PULGRAM, LAURENCE	\$625.00	0.3	\$187.50	12/3/2007	REVIEW AND EDIT MOTION TO RELATE CASE.	
					[REDACTED, FEES NOT SOUGHT]	-
MAH, LIWEN	\$330.00	0.4	\$132.00		PREPARE AND FILE MOTION TO RELATE CASES.	
PULGRAM,	\$625.00	0.2			CONFER WITH J. WAKEFIELD RE SERVICE OF SECOND COMPLAINT AND NEGOTIATION OF	0
_AURENCE	-				PROTECTIVE ORDER.	- (
MAH, LIWEN	\$330.00	0.4	\$132.00	12/5/2007	COMMUNICATE WITH OPPOSING PARTY REGARDING MOTION TO RELATE CASES; REVIEW FILINGS IN RELATED CASE.	9

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Attorney	Rate	Hours	Amount	Date	Narrative
WAKEFIELD, JEDEDIAH	\$550.00	0.5			CONFER WITH PLAINTIFF'S COUNSEL RE RELATED CASE NOTICE; REVIEW CORRESPONDENCE FROM PLAINTIFF RE SAME; REVIEW AND REVISE RESPONSE TO SAME.
					[REDACTED, FEES NOT SOUGHT]
WAKEFIELD, JEDEDIAH	\$550.00	0.4	\$220.00	12/6/2007	REVIEW CORRESPONDENCE FROM MR. YUE RE RELATED CASE NOTICE AND CONFER WITH MF PULGRAM RE RESPONSE TO SAME.
WAKEFIELD, JEDEDIAH	\$550.00	0.8	\$440.00	12/7/2007	ANALYSIS RE MOTION TO DISMISS YUE COMPLAINT.
SIEBER, ALBERT	\$370.00	0.2	\$74.00	12/7/2007	REVIEW AND RESPOND TO CORRESPONDENCE FROM J. WAKEFIELD RE MOTION TO DISMISS COMPLAINT.
SIEBER, ALBERT	\$370.00	2.3	\$851.00	12/8/2007	RESEARCH AND DRAFT PORTIONS OF MOTION TO DISMISS COMPLAINT; CONFER WITH J. WAKEFIELD RE SAME.
PULGRAM, LAURENCE	\$625.00	0.5	\$312.50	12/9/2007	REVIEW AND RESPOND TO EMAILS WITH A. SIEBER RE POTENTIAL DISMISSAL OF STORAGETER EMAILS WITH J. WAKEFIELD RE SERVICE OF PROCESS AND STRATEGIES.
					[REDACTED, FEES NOT SOUGHT]
WAKEFIELD, JEDEDIAH	\$550.00	2.1	\$1,155.00	12/10/2007	RECEIVE AND REVIEW AMENDED YUE COMPLAINT; ARRANGE TO OBTAIN PROOF OF SERVICE RE SAME; ANALYSIS RE IMPACT ON PLANNED MOTION TO DISMISS AND AVAILABLE SANCTIONS RE NEW CLAIMS; CONFER WITH MS. DECECCO RE NEXT STEPS.
PULGRAM, LAURENCE	\$625.00	1.2	\$750.00	12/10/2007	REVIEW AND ANALYZE FIRST AMENDED COMPLAINT; CALLS AND EMAILS WITH CLIENT AND J. WAKEFIELD RE STRATEGIES, PARTICULARLY WITH RESPECT TO INDIVIDUAL DEFENDANTS; ANALYZE SERVICE OF PROCESS AND OTHER ISSUES RE MOTION TO DISMISS AND POTENTIAL SANCTIONS.
SIEBER, ALBERT	\$370.00	0.9	\$333.00		RESEARCH RE RESPONSE TO AMENDED COMPLAINT FILED BY D. YUE; CONFER WITH TEAM RE SAME.
WAKEFIELD, JEDEDIAH	\$550.00	0.8	\$440.00		REVIEW CORRESPONDENCE FROM PLAINTIFF RE RELATED CASE NOTICE; REVIEW PROOFS OF SERVICE AND ANALYZE TIMING AND NEXT STEPS IN VIEW OF SAME.
SIEBER, ALBERT	\$370.00	1.8	\$666.00		REVIEW AND ANALYZE AMENDED COMPLAINT SENT BY D. YUE AND PROOFS OF SERVICE FILED WITH COURT; RESEARCH RELATED ISSUES AND CONFER WITH TEAM RE SAME.
WAKEFIELD, JEDEDIAH	\$550.00	1.2	\$660.00	12/12/2007	REVIEW LETTER TO PLAINTIFF RE TIMING FOR RESPONSE TO COMPLAINT; ANALSYIS RE MOTION TO DISMISS AND POSSIBLE MOTION TO STAY DISCOVERY AS TO INDIVIDUAL DEFENDANTS.
MAKEELELE	# ==0.55				[REDACTED, FEES NOT SOUGHT]
WAKEFIELD, JEDEDIAH	\$550.00	1.1	\$605.00		REVIEW DON YUE LETTER TO JUDGE JENKINS RE ALLEGED BIAS; ANALYSIS RE GROUNDS TO CHALLENGE NEW COMPLAINT DEPENDING ON SUMMARY JUDGMENT OUTCOME AND [REDACTED].

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Attorney	Rate	Hours	Amount	Date	Narrative	Case
					[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	(
					[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	(
SIEBER, ALBERT	\$370.00	3.7	7 \$1,369.00	12/26/2007	RESEARCH POTENTIAL RESPONSES TO YUE FIRST AMENDED COMPLAINT; BEGIN DRAFTING	
					MOTION TO DISMISS; CONFER WITH J. WAKEFIELD RE SAME.	
				· v	[REDACTED, FEES NOT SOUGHT]	
			· · · · · · · · · · · · · · · · · · ·	-	[REDACTED, FEES NOT SOUGHT]	
A/AI/EEIEI B					[REDACTED, FEES NOT SOUGHT]	
WAKEFIELD,	\$605.00	2.1	\$1,270.50	1/3/2008	RECEIVE AND REVIEW MOTION FOR DEFAULT; CONFER WITH MR. PULGRAM RE SAME;	
JEDEDIAH					CORRESPONDENCE WITH DON YUE RE SAME; REVIEW AND ANALYZE EFFICACY OF SERVICE	0
DI II ODANA	0000.00				SUMMONS.	
PULGRAM,	\$690.00	1.2	\$828.00	1/3/2008	REVIEW PLEADINGS RE PURPORTED SERVICE OF PROCESS; REVIEW AND ANALYZE EMAILS	
LAURENCE					AND LEGAL STANDARDS RE SAME; REVIEW MOTION FOR ENTRY OF DEFAULT; CONFER WITH	١J.
					WAKEFIELD AND REVIEW EMAILS RE SAME.	
CIEDED ALDEDT	# 140.00		A 4 4 4 0 0 0 0		[REDACTED, FEES NOT SOUGHT]	
SIEBER, ALBERT	\$410.00	2.8	\$1,148.00	1/3/2008	REVIEW MOTION FOR ENTRY OF DEFAULT JUDGMENT; CONFER WITH TEAM RE SAME; REVIE	
					PROOF OF SERVICE OF SUMMONS AND COMPLAINT; CONFER WITH L. MAH RE SAME;	
				····	RESEARCH AND PREPARE E-MAIL MEMORANDUM RE SAME.	
			····		[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	
				·····	[REDACTED, FEES NOT SOUGHT]	
		·		· · · · · · · · · · · · · · · · · · ·	[REDACTED, FEES NOT SOUGHT]	
	<u> </u>				[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	
		···		.	[REDACTED, FEES NOT SOUGHT]	
	·				[REDACTED, FEES NOT SOUGHT]	- (
					[REDACTED, FEES NOT SOUGHT]	
	 				[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Attorney				Date Narrative
WAKEFIELD, JEDEDIAH	\$605.00	0.2	\$121.00	1/9/2008 CONFER WITH MR. SIEBER RE STRATEGY FOR MOTION TO DISMISS.
				[REDACTED, FEES NOT SOUGHT]
WAKEFIELD, JEDEDIAH	\$605.00	0.2	\$121.00	1/10/2008 REVIEW ORDERS RELATING YUE AND NETBULA ACTION AND SETTING STATUS CONFERENCE
PULGRAM, LAURENCE	\$690.00	0.2	\$138.00	1/10/2008 REVIEW COURT ORDERS AND PLEADINGS.
				[REDACTED, FEES NOT SOUGHT]
 				[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
<u> </u>				[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
WAKEFIELD,	\$605.00	0.4	\$242.00	1/15/2008 CORRESPONDENCE WITH COUNSEL FOR MR. YUE RE STATUS OF REPRESENTATION AND
JEDEDIAH				DEFAULT; [REDACTED, FEES NOT SOUGHT].
				[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
SIEBER, ALBERT	\$410.00	0.4	\$164.00	1/17/2008 DRAFT STIPULATION RE CONTINUATION OF CASE MANAGEMENT CONFERENCE; CONFER WIT J. WAKEFIELD RE SAME; E-MAIL OPPOSING COUNSEL RE SAME.
WAKEFIELD, JEDEDIAH	\$605.00	0.2	\$121.00	1/17/2008 CONFER WITH MR. SIEBER RE STIPULATION TO CONTINUE CASE MANAGEMENT CONFERENCE AND REVISE SAME.
WAKEFIELD, JEDEDIAH	\$605.00	0.9	\$544.50	1/17/2008 CONFER WITH DR. YUE AND NETBULA'S COUNSEL RE JOINT STATEMENT.
				[REDACTED, FEES NOT SOUGHT]
WAKEFIELD, JEDEDIAH	\$605.00	0.6	\$363.00	1/18/2008 CONFER WITH PLAINTIFF AND REVISE JOINT STATEMENT IN VIEW OF RECENT ORDERS.
			-	[REDACTED, FEES NOT SOUGHT]
PULGRAM, _AURENCE	\$690.00	0.2	\$138.00	1/18/2008 REVIEW EMAILS AND PROVIDE INPUT RE STRATEGY AND STATUS CONFERENCE.
				[REDACTED, FEES NOT SOUGHT]
WAKEFIELD,	\$605.00	1.2	\$726.00	1/22/2008 ANALYZE IMPACT OF SUMMARY JUDGMENT AND STRATEGY FOR RESPONSE TO COMPLAINT II
JEDEDIAH				VIEW OF SAME; REVIEW AND CONFER WITH PLAINTIFF RE PLAINTIFF'S STATEMENT RE CMC.
	····		· · · · · · · · · · · · · · · · · · ·	[REDACTED, FEES NOT SOUGHT]

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Attorney	Rate	Hours /	Amount	Date Narrative
			·	[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
		· · · · · · · · · · · · · · · · · · ·		[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
WAKEFIELD, JEDEDIAH	\$605.00		\$121.00	1/23/2008 CONFER WITH COUNSEL FOR PLAINTIFF RE REPRESENTATION AND UPDATE TEAM RE SAME.
WAKEFIELD, JEDEDIAH	\$605.00	1.3	\$786.50	1/23/2008 RESEARCH AND ANALYSIS RE GROUNDS FOR MOTION TO DISMISS AND CONFER WITH MR. SIEBER RE SAME.
PULGRAM, LAURENCE	\$690.00	0.4	\$276.00	1/23/2008 ANALYZE CASE LAW AND CONFER WITH A. SIEBER RE MOTION TO DISMISS AND PRIVITY ISSU
				[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
WAKEFIELD, JEDEDIAH	\$605.00	1.5	\$907.50	[REDACTED, FEES NOT SOUGHT] [REDACTED, FEES NOT SOUGHT] [REDACTED, FEES NOT SOUGHT] 1/24/2008 REVIEW ORDER RE CMC; ANALYZE AND CONFER WITH MR. TYZ RE STRATEGY FOR MOTION T DISMISS; REVIEW AND ANALYZE AUTHORITIES RE PRIVITY FOR SAME.
				[REDACTED, FEES NOT SOUGHT]
PULGRAM, LAURENCE	\$690.00	0.2	\$138.00	1/24/2008 EMAILS WITH CLIENT; CONFER WITH A. SIEBER RE MOTION TO DISMISS.
SIEBER, ALBERT	\$410.00	3.5	\$1,435.00	1/25/2008 CONFER WITH L. PULGRAM AND J. WAKEFIELD RE MOTION TO DISMISS COMPLAINT; RESEARCE DRAFT AND REVISE SAME.
				[REDACTED, FEES NOT SOUGHT]
				[REDACTED, FEES NOT SOUGHT]
WAKEFIELD, JEDEDIAH	\$605.00	1	\$605.00	1/25/2008 CONFER WITH MR. SIEBER RE MOTION TO DISMISS; REVIEW SUPPORTING EVIDENCE FOR SAME.
				[REDACTED, FEES NOT SOUGHT]
SIEBER, ALBERT	\$410.00	8.8	\$3,608.00	1/26/2008 RESEARCH, DRAFT AND REVISE MOTION TO DISMISS COMPLAINT.
SIEBER, ALBERT	\$410.00	1.8	\$738.00	1/27/2008 REVIEW COMMENTS FROM J. WAKEFIELD RE MOTION TO DISMISS COMPLAINT; REVISE SAME.
				[REDACTED, FEES NOT SOUGHT]
WAKEFIELD, JEDEDIAH	\$605.00	1	\$605.00	1/27/2008 ASSIST IN PREPARATION OF MOTION TO DISMISS.
SIEBER, ALBERT	\$410.00	4.9	\$2,009.00	1/28/2008 CONFER WITH TEAM RE MOTION TO DISMISS AND SUPPORTING DOCUMENTS; RESEARCH, REVISE, AND SUPPLEMENTAL RESEARCH RE SAME.
				[REDACTED, FEES NOT SOUGHT]

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Historical Fees &	COSIS as O	IVIAICII 10,	2006			Cas
Attorney	Rate	Hours	Amount	Date	Narrative	35
WAKEFIELD,	\$605.00	0.8	\$484.00	1/28/2008	REVIEW AND REVISE ARGUMENTS FOR MOTION TO DISMISS; REVIEW SUPPORTING EVIDENCE	Fi
JEDEDIAH					FOR SAME.	_ :
PULGRAM,	\$690.00	2.8	\$1,932.00	1/28/2008	REVIEW AND EDIT MOTION TO DISMISS; CONFER WITH A. SIEBER AND J. WAKEFIELD RE SAME	E ,
LAURENCE					[REDACTED, FEES NOT SOUGHT].	- 4
					[REDACTED, FEES NOT SOUGHT]	بخ
SIEBER, ALBERT	\$410.00	7	\$2,870.00	1/29/2008	OVERSEE ALL ASPECTS OF REVISION AND FILING OF MOTION TO DISMISS; SUPPLEMENTAL	- ă
					RESEARCH AND CONFER WITH TEAM RE SAME.	ç
WAKEFIELD,	\$605.00	1.9	\$1,149.50	1/29/2008	REVIEW, ANALYZE AND REVISE ARGUMENTS FOR MOTION TO DISMISS; REVIEW SUPPORTING	3 ₹
JEDEDIAH					DECLARATION, APPENDIX AND PROPOSED ORDER.	َ
PULGRAM,	\$690.00	3.5	\$2,415.00	1/29/2008	REVIEW AND CONTINUE EDITS OF MOTION TO DISMISS AND RELATED DOCUMENTS; ANALYZE	=
LAURENCE					CASE LAW AND JUDICIAL NOTICE ISSUES; CONFER WITH A. SIEBER AND J. WAKEFIELD RE	
					FILING.	
					[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	ā
······					[REDACTED, FEES NOT SOUGHT]	=
					[REDACTED, FEES NOT SOUGHT]	Ų
					[REDACTED, FEES NOT SOUGHT]	-
SIEBER, ALBERT	\$410.00	0.6	\$492.00	2/4/2008	[REDACTED, FEES NOT SOUGHT]; DRAFT AND REVISE PORTIONS OF CASE MANAGEMENT	
					CONFERENCE STATEMENT.	
					[REDACTED, FEES NOT SOUGHT]	
SIEBER, ALBERT	\$410.00	0.2	\$82.00	2/5/2008	REVIEW PLAINTIFF'S STATEMENT RE CASE STATUS; E-MAIL TEAM RE SAME.	U C
WAKEFIELD,	\$605.00	1	\$605.00	2/5/2008	PREPARATION OF CASE MANAGEMENT CONFERENCE STATEMENT AND NEGOTIATE WITH	
JEDEDIAH					PLAINTIFF'S COUNSEL RE SAME.	03/
PULGRAM,	\$690.00	0.3	\$207.00	2/5/2008	REVIEW AND EDIT STATUS CONFERENCE STATEMENTS; E-MAILS AND CONFER RE SAME.	0
LAURENCE						0/2
					[REDACTED, FEES NOT SOUGHT]	_
					[REDACTED, FEES NOT SOUGHT]	→
					[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	7
SIEBER, ALBERT	\$410.00	0.6	\$246.00	2/8/2008	REVIEW E-MAILS RE REPLY TO MOTION TO DISMISS; BEGIN DRAFT OF SAME; REVIEW ORDER	R
					PLAINTIFF'S REQUEST FOR DISQUALIFICATION; E-MAIL TEAM RE SAME.	-
					[REDACTED, FEES NOT SOUGHT]	C
					[REDACTED, FEES NOT SOUGHT]	_
WAKEFIELD,	\$605.00	0.8	\$484.00	2/11/2008	REVIEW ORDER RE MOTION FOR DEFAULT AND MOTION FOR SANCTIONS; ANALYSIS RE	0
JEDEDIAH					PLAINTIFF'S MOTION TO STRIKE.	

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Attorney	Rate	Hours	Amount	Date Narrative	Cave
WAKEFIELD,	\$605.00	0.1	\$60.50	2/11/2008 TELEPHONE CALL FROM PLAINTIFF'S COUNSEL RE MOTION TO STRIKE AND OPPOSITION T	
JEDEDIAH				MOTION TO DISMISS.	0 5
				[REDACTED, FEES NOT SOUGHT]	
SIEBER, ALBERT	\$410.00	0.3	\$123.00	2/11/2008 REVIEW PLAINTIFF'S MOTION TO STRIKE; E-MAIL TO TEAM RE SAME.	
				[REDACTED, FEES NOT SOUGHT]	
				[REDACTED, FEES NOT SOUGHT]	5
				[REDACTED, FEES NOT SOUGHT]	(
WAKEFIELD,	\$605.00	2.2	\$1,331.00	2/12/2008 PREPARE FOR, TRAVEL TO AND ATTEND CASE MANAGEMENT CONFERENCE (TIME SPLIT W	VITH.
JEDEDIAH				NETBULA V. SUN MATTER).	۲
WAKEFIELD,	\$605.00	1.4	\$847.00	2/12/2008 REVIEW AND ANALYZE ARGUMENTS IN PLAINTIFF'S MOTION TO STRIKE AND EVIDENCE CIT	ED.
JEDEDIAH					
				[REDACTED, FEES NOT SOUGHT]	
PULGRAM,	\$690.00	0.4	\$276.00	The state of the s	ATA
LAURENCE				ISSUES.	<u></u>
				[REDACTED, FEES NOT SOUGHT]	_
WAKEFIELD,	\$605.00	3.2	\$1,936.00	The state of the s	1
JEDEDIAH	•			MOTION TO DISMISS; CONFER WITH MR. SIEBER RE SAME; [REDACTED].	1
SIEBER, ALBERT	\$410.00	2.1	\$861.00	2/13/2008 RESEARCH CASES AND OTHER MATERIALS CITED IN SUPPORT OF MOTION TO STRIKE AND)
				MOTION TO DISMISS; DRAFT AND REVISE REPLY BRIEF; CONFER WITH J. WAKEFIELD RE SA	AME.
MAKEELELD	4005.00				=
WAKEFIELD,	\$605.00	0.5	\$302.50	The state of the s	RE 2
JEDEDIAH	0440.00		<u> </u>	SAME.	
SIEBER, ALBERT	\$410.00	3.3	\$1,353.00	The second secon	;; O/KC
NEDED ALBERT	0440.00		A.15.5.5	CONFER WITH J. WAKEFIELD RE SAME.	Q
SIEBER, ALBERT	\$410.00	1.2	\$492.00		
SIEBER, ALBERT	\$410.00	4.5	\$1,845.00	The state of the s	
SIEBER, ALBERT	\$410.00	0.3	\$123.00	The state of the s	
VAKEFIELD,	\$605.00	1	\$605.00	2/18/2008 REVIEW AND REVISE REPLY RE MOTION TO DISMISS.	_
JEDEDIAH	0000.00		***		- و و
PULGRAM,	\$690.00	2.9	\$2,001.00	2/18/2008 REVIEW AND EDIT MOTION TO DISMISS REPLY; EMAILS RE SAME.	9
AURENCE	0440.65				C
SIEBER, ALBERT	\$410.00	0.3	\$123.00	THE PARTY OF THE P	2
				SUPPORT OF MOTION TO DISMISS; REVIEW EDITS TO SAME.	-

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Attorney	Rate	Hours	Amount	Date Narrative
PULGRAM,	\$690.00			
LAURENCE				TO BRIEF AND SUPERVISE FILING; [REDACED CLIENT CONFERENCE]; CALL FROM NORTHERN
				DISTRICT ADR OFFICE RE MEDIATION.
SIEBER, ALBERT	\$410.00	3.4	\$1,394.00	2/19/2008 REVIEW CORRESPONDENCE FROM J. WAKEFIELD AND L. PULGRAM RE REPLY IN SUPPORT OF
				MOTION TO DISMISS; CONFER WITH L. PULGRAM RE SAME; REVISE SAME; ASSIST IN ALL
			***	ASPECTS OF FILING DOCUMENT.
WAKEFIELD,	\$605.00	0.4	\$242.00	2/19/2008 ANALYSIS RE ARGUMENTS FOR CONVERSION OF MOTION TO DISMISS TO RULE 56 MOTION AN
JEDEDIAH	4000			CONFER WITH MR. PULGRAM RE SAME.
TRIGONIS, NICK	\$200.00	1.2		2/19/2008 RETRIEVE CASES AND CITE CHECK MOTION TO DISMISS REPLY.
PULGRAM,	\$690.00	0.2	\$138.00	2/21/2008 REVIEW MOTION TO SUBSTITUTE; EMAILS TO TEAM RE SAME.
LAURENCE	0.140.00			
SIEBER, ALBERT	\$410.00	0.2	\$82.00	2/21/2008 REVIEW NOTICE OF SUBSTITUTION OF COUNSEL; RESEARCH AND E-MAIL TEAM RE SAME.
CIEDED ALDEDT	£440.00		04 400 00	[REDACTED, FEES NOT SOUGHT]
SIEBER, ALBERT	\$410.00	2.9	\$1,189.00	2/27/2008 REVIEW AND REVISE STIPULATION RE HEARING ON MOTION TO WITHDRAW; CONFER WITH J.
				WAKEFIELD RE SAME; DRAFT RESPONSE TO MOTION TO WITHDRAW AS COUNSEL; CONFER
				WITH J. WAKEFIELD RE SAME.
SIEBER, ALBERT	\$410.00	1.8	¢720.00	[REDACTED, FEES NOT SOUGHT]
OILDEN, ALDEN I	φ4 IU.00	1.0	\$738.00	2/29/2008 CONFER WITH J. WAKEFIELD RE OPPOSITION TO MOTION TO WITHDRAW AND PROPOSED
				ORDER RE SAME; REVISE AND FILE SAME.
				[REDACTED, FEES NOT SOUGHT]
WAKEFIELD,	\$605.00	1.4	\$847.00	[REDACTED, FEES NOT SOUGHT]
JEDEDIAH	Ψ005.00	1.4	φ047.00	3/3/2008 BEGIN PREPARATION FOR HEARING ON MOTION TO DISMISS AND STATUS CONFERENCE;
PULGRAM,	\$690.00	0.7	\$483.00	RECEIVE AND REVIEW ORDER TAKING HEARING OFF CALENDAR. 3/3/2008 CONFER WITH J WAKEFIELD RE ARGUMENT ON MOTION TO DISMISS; REVIEW COURT FILING R
LAURENCE	Ψ000.00	0.1	Ψ-00.00	WITHDRAWAL MOTION AND CONTINUANCES; BEGIN PREPARATIONS FOR HEARING; REVISE AN
				EDIT OPPOSITION TO MOTION TO STRIKE.
SIEBER, ALBERT	\$410.00	0.5	\$205.00	3/3/2008 PREPARE OPPOSITION TO MOTION TO STRIKE; CONFER WITH L. PULGRAM RE SAME.
WAKEFIELD,	\$605.00	1.2		3/4/2008 REVIEW AND ANALYZE ORDER DISMISSING CASE AND JUDGMENT; REVIEW AUTHORITIES AND
JEDEDIAH	•		*	ANALYZE GROUNDS FOR FEES MOTION; CONFER WITH MR. SIEBER AND MR. PULGRAM RE
				SAME.
PULGRAM,	\$690.00	1.8	\$1,242.00	3/4/2008 REVIEW ORDER GRANTING MOTION TO DISMISS; ANALYZE CASE LAW AND STRATEGIES
LAURENCE			-	REGARDING POTENTIAL MOTION FOR ATTORNEY'S FEES; CONFER WITH J. WAKEFIELD AND A.
				SIEBER RE SAME; EMAILS AND CALLS TO CLIENT.
SIEBER, ALBERT	\$410.00	1	\$410.00	3/4/2008 REVIEW ORDER RE MOTION TO DISMISS; CONFER WITH TEAM RE SAME; RESEARCH CASE LAW
				RE ATTORNEYS' FEES MOTION AND E-MAIL L. PULGRAM RE SAME.

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Historical Fees &	Costs as of	F March 18	, 2008			င္လ
Attorney	Rate	Hours	Amount	Date	Narrative	Case
WAKEFIELD,	\$605.00				REVIEW RECENT AUTHORITIES RE PREVAILING PARTY ATTORNEYS FEES; REVIEW	
JEDEDIAH					COMMUNICATIONS SUPPORTING AWARD OF SAME.	3:07
WAKEFIELD,	\$605.00	0.2	\$121.00	3/5/2008	[REDACTED - CLIENT CONFERENCE]	
JEDEDIAH					[Paration Paration	-CV-
SIEBER, ALBERT	\$410.00	0.2	\$82.00	3/5/2008	CONFER WITH AND E-MAIL J. WAKEFIELD RE MOTION FOR ATTORNEYS' FEES.	05
PULGRAM,	\$690.00	0.3	\$207.00		CONFER WITH A SIEBER RE ATTORNEYS FEES MOTION.	
LAURENCE						850-
WAKEFIELD,	\$605.00	0.2	\$121.00	3/6/2008	[REDACTED - CLIENT CONFERENCE]	<u> </u>
JEDEDIAH						٦
SIEBER, ALBERT	\$410.00	2.2	\$902.00	3/6/2008	CONFER WITH L. PULGRAM RE ATTORNEYS' FEES MOTION; RESEARCH RELATED TO SAME.	
					[REDACTED, FEES NOT SOUGHT]	
					[REDACTED, FEES NOT SOUGHT]	_ 0
PULGRAM,	\$690.00	0.1	\$69.00	3/13/2008	CONFER WITH A. SIEBER RE MOTION FOR ATTORNEY'S FEES.	
LAURENCE						amu
SIEBER, ALBERT	\$410.00	0.3	\$123.00	3/13/2008	REVIEW AND RESPOND TO CORRESPONDENCE FROM L. PULGRAM RE TIMING OF ATTORNEY	
·					FEES MOTION; RESEARCH RELATED TO SAME.	ွှတ်
PULGRAM,	\$690.00	0.1	\$69.00	3/14/2008	CONFER WITH JED WAKEFIELD RE ATTORNEYS FEES MOTION.	+
LAURENCE			•			+
SIEBER, ALBERT	\$410.00	0.3	\$123.00	3/14/2008	CONFER WITH J. WAKEFIELD RE MOTION FOR ATTORNEYS' FEES.	
SIEBER, ALBERT	\$410.00	3.8			RESEARCH, DRAFT AND REVISE MOTION FOR ATTORNEYS' FEES.	
SIEBER, ALBERT	\$410.00				RESEARCH, DRAFT AND REVISE MOTION FOR ATTORNEYS' FEES; CONFER WITH J. WAKEFIEL	n B
	•		,		RE SAME.	0
				· · · · · · · · · · · · · · · · · · ·	[REDACTED, FEES NOT SOUGHT]	<u> </u>
WAKEFIELD,	\$605.00	0.5	\$302.50		REVIEW RESEARCH RE FEES AND COSTS RECOVER AND REVIEW DRAFT MOTION FOR FEES.	
JEDEDIAH			•		THE PROPERTY OF THE PROPERTY O	2
PULGRAM,	\$690.00	0.3	\$207.00	3/16/2008	REVIEW AND RESPOND TO EMAIL RE COST BILL AND ATTORNEYS FEES MOTION	8/2008
LAURENCE	·		•		THE THE THE TO ENWINE THE GOOT BILL THIS THE TOTAL TO THE THOUGH	∞
PULGRAM,	\$690.00	0.9	\$621.00	3/17/2008	CONFER WITH J. WAKEFIELD AND A. SIEBER RE MOTION FOR ATTORNEY'S FEES AND COSTS	
LAURENCE			*		REVIEW AND EDIT INTRODUCTION TO MOTION.	
PULGRAM,	\$690.00	1.2	\$828.00		REVIEW AND REVISE MOTION FOR ATTORNEY'S FEES; INPUT RE COSTS BILL.	age
LAURENCE		·. _	¥	3,, _ 300	THE THE THE HEAT MOTION OF THE TOTAL OF THE GOOTS BILL.	4
SIEBER, ALBERT	\$410.00	4.2	\$1,722.00	3/17/2008	REVIEW CORRESPONDENCE FROM J. WAKEFIELD AND L. PULGRAM RE MOTION FOR	
	Ţ		Ţ.,. 		ATTORNEYS' FEES; REVISE BRIEF AND SUPPLEMENTAL RESEARCH BASED ON SAME; DRAFT	of 13
					SUPPORTING DECLARATION AND PREPARE EXHIBITS TO SAME.	- 3
					GOLI GIVING BEGLARATION AND FREFARE EXHIBITS TO SAME.	W

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Historical Fees	& Costs as o	T Warch 1	8, 2008		
Attorney	Rate	Hours	Amount	Date Narrative	(
WAKEFIELD,	\$605.00) 8.	9 \$5,384.50	3/17/2008 DRAFT ARGUMENTS FOR FEES MOTION; REVIEW SUPPORTING MATERIALS FOR SUPPORTING	G
<u>JEDEDIAH</u>				DECLARATION AND BILL OF COSTS.	
WAKEFIELD,	\$605.00)	5 \$3,025.00	3/18/2008 (ESTIMATED) FURTHER PREPARATION OF FEES MOTION AND SUPPORTING MATERIALS;	
JEDEDIAH				RESEARCH RE TAXABLE COSTS AND SERVICE ISSUES; CONFER WITH PLAINTIFF RE SERVIC	E.
			\$10.75	12/8/2007 LEXIS/NEXIS RESEARCH DOCUMENT PRINTING SIEBER, ALBERT	
			\$182.00	The state of the s	
			\$43.50	THE PROPERTY OF THE PARTY OF TH	
			\$50.75	- The state of the	
			\$36.25	The state of the s	
		·	\$10.75	The second secon	
			\$21.75	12/20/2007 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
 			\$43.50	12/26/2007 LEXIS/NEXIS RESEARCH SIEBER, ALBERT SHEPARD'S LEGAL CITATION SERVICES	
 *			\$14.50	1/1/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
		- ·	\$68.00	1/3/2008 LEXIS/NEXIS RESEARCH SEARCHES SIEBER, ALBERT	
			\$43.50	1/3/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
······································			\$36.25	1/4/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
			\$14.50	1/6/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
·			\$14.50	1/7/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
			\$101.50	1/9/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
			\$36.25	1/18/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
			\$29.00	1/23/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
			\$50.00	1/23/2008 LEXIS/NEXIS RESEARCH SEARCHES SIEBER, ALBERT	
	.		\$50.00	1/25/2008 LEXIS/NEXIS RESEARCH SEARCHES SIEBER, ALBERT	
			\$50.75	1/14/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
			\$284.00	1/14/2008 LEXIS/NEXIS RESEARCH SEARCHES SIEBER, ALBERT	
			\$29.00	1/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
			\$213.00	1/15/2008 LEXIS/NEXIS RESEARCH SEARCHES SIEBER, ALBERT	
			\$36.25	1/16/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
			\$140.00	1/16/2008 LEXIS/NEXIS RESEARCH SINGLE DOCUMENT RETRIEVAL SIEBER, ALBERT	
			\$21.75	1/28/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
·			\$43.50	2/1/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	
			\$21.75	2/11/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT	-
			\$76.00	2/12/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES SEARCHES SIEBER, ALBERT	
			\$50.00	2/13/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES SEARCHES SIEBER, ALBERT	-

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

A44	D-4-			Date Narrative ວ
Attorney	Rate	Hours	Amount \$14.50	
· · · · · · · · · · · · · · · · · · ·			\$50.00	2/14/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT
			φ50.00	ALDEDT
			\$7.25	ALBERT
			\$29.00	2/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT
<u></u>			\$194.00	2/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 2/17/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 2/17/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES SEARCHES SIEBER, ALBERT
· · · · · · · · · · · · · · · · · · ·		***************************************	\$50.00	
		······································	\$30.00 \$14.50	
			\$7.12	2/21/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT
· · ·			\$8.00	2/27/2008 WESTLAW RESEARCH WESTLAW LINES SIEBER, ALBERT
	-		\$7.25	2/27/2008 WESTLAW RESEARCH TRANSACTIONAL ONLINE FINDS SIEBER, ALBERT
			\$21.50	3/4/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT
			\$280.00	3/4/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES DOCUMENT PRINTING SIEBER, ALBERT
			φ200.00	3/4/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 3/4/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES DOCUMENT PRINTING SIEBER, ALBERT 3/4/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES SINGLE DOCUMENT RETRIEVAL SIEBER, ALBERT 3/6/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT
			\$29.00	ALBERT
			\$53.75	3/6/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT
		· · · · · · · · · · · · · · · · · · ·	\$250.00	3/6/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES DOCUMENT PRINTING SIEBER, ALBERT 3/6/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES SINGLE DOCUMENT RETRIEVAL SIEBER,
			\$250.00	
			\$65.25	ALBERT
	·		\$860.00	3/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 7/15/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER SERVICE LEGAL CITATION SERVICES SIEBER SERVICE SERVICE SIEBER SERVICE
			Φ000.00	3/15/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES SINGLE DOCUMENT RETRIEVAL SIEBER, ALBERT 3/16/2008 LEXIS/NEXIS RESEARCH LAW REVIEWS SINGLE DOCUMENT RETRIEVAL SIEBER, ALBERT 3/16/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT 3/16/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES SEARCHES SIEBER, ALBERT 3/16/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES SINGLE DOCUMENT RETRIEVAL SIEBER, ALBERT
			\$10.00	3/16/2008 LEXIS/NEXIS RESEARCH LAW REVIEWS SINGLE DOCUMENT RETRIEVAL SIEBER, ALBERT
			\$65.25	3/16/2008 LEXIS/NEXIS RESEARCH SHEPARD'S SERVICE LEGAL CITATION SERVICES SIEBER, ALBERT
			\$248.00	3/16/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES SEARCHES SIEBER, ALBERT
			\$560.00	3/16/2008 LEXIS/NEXIS RESEARCH LEXIS LEGAL SERVICES SINGLE DOCUMENT RETRIEVAL SIEBER,
			,	ALBERT
			\$19.78	1/28/2008 FEDERAL EXPRESS 791480497771 250396354
			\$9.00	2/22/2008 OVERNIGHT COURIER PAID BY A/P (HARD COST) VENDOR: NATIONWIDE LEGAL, INC., 1/16/08
			,	TOTAL CONTRACTOR OF THE CONTRA
			\$11.50	2/22/2008 OVERNIGHT COURIER PAID BY A/P (HARD COST) VENDOR: NATIONWIDE LEGAL, INC., 1/16/08
			\$4.50	2/22/2008 OVERNIGHT COURIER PAID BY A/P (HARD COST) VENDOR: NATIONWIDE LEGAL, INC., 1/30/08

 \circ

Document 54-4

Yue v. Sun 25689-405 Historical Fees & Costs as of March 18, 2008

Historical Fee	s & Costs as	of March 1	8, 2008			င္လ
Attorney	Rate	Hours	Amount	Date Nar	rative	est
			\$50.00		ERNIGHT COURIER PAID BY A/P (HARD COST) VENDOR: QUAKE COURIER & ATTORNEY RVICES, 1/7/08	3:07
			\$50.00		ERNIGHT COURIER PAID BY A/P (HARD COST) VENDOR: QUAKE COURIER & ATTORNEY RVICES, 1/7/08	-cv-
			\$40.00		ERNIGHT COURIER PAID BY A/P (HARD COST) VENDOR: QUAKE COURIER & ATTORNEY RVICES, 1/28/08)585
			\$9.00	3/11/2008 OVE	ERNIGHT COURIER PAID BY A/P (HARD COST) VENDOR: NATIONWIDE LEGAL, INC. , 2/6/08	
			\$12.00	3/7/2008 TRA	VEL - 2/12/08 PARKING - VENDOR: LAURENCE F. PULGRAM (EXP)	٦

TOTAL FEES	\$87,775.00
TOTAL COSTS	\$4,853.40
TOTAL FEES AND	\$92,628.40
COSTS	